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24- 1) overturning 2) sideslip 3) twitch 4) vibration
25- 1) ngd 2) strong 3) variable 4) flexable

PART E:

Directions: In the following five questions, choose the best and correct answer.

26- In dynamic analysis of structures, what is called the first mode of the natural free
vibration?
1) Freedom term 2) Frequency mode 3) Principal mode  4) Particular term
27-  What is the synonymous of “concentrated™ in analytical model of structures?

1) lumped 2) focused 3) centralized 4) centered
28-  What is the meaning of “prototype” in laboratory tests?
1) main rule 2) test rule 3) main sample 4) test sample

29-  What is the purport of “There is no concern about seismic instability™?
1) There is no worry about seismic instability.
2) There is no need to think about seismic instability.
3) We never concern about seismic instability.
4) Nobody has paid attention about seismic instability.
30- What is the meaning of the underlined word in the following sentence?
A small fillet or haunch can be placed between the deck slab and the top flange of the
stringer?
1) beam web 2) girder 3) slab corner 4) strange
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